Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

The PINNACLE PLUS
Whirlpool Spa

PARTS CATALOG

MODEL #P700000
ISSUE DATE: 3/99
CATALOG #K557000E



csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/

Guillen's Enterprises, inc

jacuzziparts.com
800-222-7855

: www.guillens.com - (800) 222-7855 E CONTENTS

Pinnacle Plus Reference

Discharge #1 Plumbing

Discharge #2 Plumbing

Recirculating Plumbing

Suction Plumbing

Air Line Piping
Air Blower/Piping/Air Injector Assemblies

Electronic Control Box/Control Panel/Heater Assembly
Cycle Valve Assembly

Micro-Pulse Jet Assembly

Diverter Valve Assembly
Lamp/Harness Assembly

230V Pump/Motor/Cord Assembly

Recirculating Pump/Motor/Cord Assembly
Filter/Skimmer Well

Skirts/Step/Pillows/Thermal Wrap
CD Player/Power Supply/Panel Assembly

Spa Remote Kit

Other Iltems Available

O©CoO~NO UL WNEPER

TO ORDER

Order by part number unless otherwise noted. Quantities shown in this catalog indicate the number of

items required. When ordering, specify the quantity needed.



csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/

Guillen's Enterprises, inc
e e jacuzziparts.com
............................ 800-222-7855

Jﬂﬂme MODEL #P700000
i S P I N N AC L E P L U S ISSUE DATE: 3/99

REPAIR ASSEMBLIES ARE SHOWN/REFERENCED BELOW

STEREO SPEAKERS (2)
230V PUMP/MOTOR ASSEMBLY
BMH JETS (19)

FILTER/SKIMMER WELL
WITH 75 SQ. FT. FILTRATION

1-POSITION CYCLE VALVE
CONTROL PANELS

(7)
MICRO- PULSE JET

HTC JETS (6)

N\ HTA JETS (3)
X

i
ASSEMBLIES (2) m\\\ WATER RAINBOW ASSEMBLIES
DIVERTER VALVE ASSEMBLY (1) l_» 2)

HEADREST PILLOWS (4) ﬁf—ﬂl'i"m‘\a SUCTION FITTINGS (4)
3-PUMP ELECTRONIC Y /1= AIR INJECTOR ASSEMBLIES
CONTROL BOX AN & !‘/}g)‘ (10)

PRODUCT SPECIFICATION ———

— =
— UNDERWATER SPA LIGHTS (2)

E
DELUXE 3-PUMP
CONTROL PANEL

240V, 1 HP AR BLOWER

19" WRAP-AROUND
REDWOOD SKIRTS

230V PUMP/MOTOR ASSEMBLY
(LOCATED BEHIND SKIRT)

ASSEMBLY

STEREO/CD PLAYER BUILT-IN STEP WITH GRAB RAIL

BMH JET #7 BMH JET #8

BMH JET #4
BMH JET #5 HTA JET #26
BMH JET #6 _BMH JET #9
HTC JET #22
BMH JET #1— I BMH JET #10
BMH JET #2 — [
BMH JET #3 \ | HTC JET #27
HTC JET #20 | | o JET 411
HTC JET #21
et | BMH JET #12
BMH JET #16—H
BMH JET #17 | o e 1
BMH JET #18 —F
MICRO-PULSE HTC JET #23
JETS (2) \ T N —BMH JET #14
D a— BMH JET #15

\I. R. Sensor
See General Spa Parts Catalog for information on the following:

BMH Jet Assembly Suction Fitting
HTA Jet Assembly Ozone Dispersion Fitting
HTC Jet Assembly One-Position Control Panel

Water Rainbow Assembly


csr111
Typewritten Text

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

PINNACLE PLUS [

DISCHARGE #1 PLUMBING

Jae

WHlnLPooL‘vE—iTHG

*To Water Rainbow

Assemblies 10
1 1/2" Flex 1 |*See General Spa Parts Catalog |
" 3/4" Flex
x 22.00'L.
10 X 8.00"L. (2 Places)
&1-10

* www.guillens.com - (800) 222-7855

1" Flex

X 10.75"L. 1 1/2" Flex To HTA Jet All of the flex pipe

x 19.00'L. (In Footwell) in.this areais 1/2'.'
with lengths varying
11/2" Flex from 18" to 24"

X 25.00"L.

1 1/2" Flex
X 12.25"..

11/2"Flex 7
3 X 25.00"L.

11/2"x 2.50" 3

11/2" Flex
X 17.00"L.

N2
M ": a
IRERIBIIIEDBIL M n) L/

<y

" To
L 11é20 g,lfx Suction
X 16 ) Plumbing
1/2" Flex x 8.50'L.

To Suction 11/2" x 4.00'L.
To 230V Pump Plumbing 16
TEM PIN DESCRIPTION DiSchaige QTY
1 H833000  2"S x S Unibody Valve 1
2 2949000 Tee, Rdcng, 1 1/2"x 1 1/2"x 2" 1
3 0167000 Tee, 11/2",SxSxS 4
4 0955000 Ell, 90,1 1/2", Street x Slip 2
5 7731000 Tee, Rdcng, 1 1/2"x1 1/2"x1"SxS xS 1
6 8536000  Tee, Rdcng, 1"x 1"x 3/4", SxSxS 2
7 0239000 Ell, 90,1 1/2"Sx S 4
8 0507000 Ell, 90,1"Sx S 2
9 0157000 Ell, 45,1 1/2", Sx S 1
10 7298000 Ell, 3/4", 90, Street 3
11 D360000 Tee, 3/4 x 3/4 x 3/4, SxS xS 1
12 7164000 Ell, Street, 1/2" 90 7
13 F830000 Restrictor, Flow, .81 OD 1
14 D221000 Ell, 3/4", 90, Sx S 6
15 3344000 Bushing, Rdcng, 3/4" x 1/2" S x SPG 7
16 3044000 Compression Fitting, 90 Ell 1
17 K596000 Strainer Assembly 1
18 D189000 Tee,Rdcng, 1 1/2"x1 1/2"x 3/4"SxS xS 1



csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC H833
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 2949
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0167
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0955
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7731
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 8536
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0239
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0507
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0157
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7298
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D360
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7164
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F830
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D221
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3344
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3044
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K596
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D189
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com il il
800-222-7855 = L ieec-esemamsssmsssmssas

L) PINNACLE PLUS S5

DISCHARGE #2 PLUMBING

To Micro-Pulse

1" Flex x 18.25'L.
1"x 4.00"L.

1" Flex
1" Flex x 10.00"L.

X 36.00"L.

1" Flex
X 19.00L.

1" Flex
X 16.50"L.

Y 1 1/2" Flex
X 46.00'L.

1 1/2" Flex )
x 37.00"L. Y X 6.00"L. " g |
| 15 To Jet 1 1/2" Flex
x 13.00'L. #27 x 28.00'L.

X 8.50"L. 1 1/2" Flex
x 17.50"L.

1

2" x 2.50"L:

To 230V Pump Discharge
ITEM P/N DESCRIPTION Q1Y

1 H833000 2" S x S Unibody Valve 1
2 2949000 Tee, Rdcng, 1 1/2"x1 1/2"x 2" 1
3 0167000 Tee, 11/2",SxSxS 2
4 7731000 Tee,Rdcng, 1 1/2"x 1 1/2"x1"SxSxS 2
5 0955000 Ell, 90, 1 1/2" Street x Slip 1
6 0157000 Ell, 45,1 1/2"S xS 1
7 0239000 Ell, 90,1 1/2"S xS 3
8 0827000 Tee, 1"SxSxS 2
9 8536000 Tee, Rdeng, 1" x 1"x 3/4",SxSx S 5
10 8537000 Ell, Rdcng, 1" x 3/4", Sx S 4
11 7298000 Ell, 3/4, 90 Street 1
12 3344000 Bushing, Rdcng, 3/4" x 1/2" S x SPG 1
13 7164000 Ell, Street, 1/2" 90 3
14 2010000 Bushing, Rdcng, 1 1/2" x 1/2" SPG x S 2
15 0455000 Tee, 1/2",SxS xS 1

2

16 K399000 Ell, 90, .25"x 1/2"S ,



csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC H833
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 2949
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0167
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7731
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0955
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0157
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0239
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0827
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 8536
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 8537
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7298
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3344
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7164
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 2010
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0455
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K399
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

LHE) PINNACLE PLUS [S

RECIRCULATING PLUMBING

10 2

g www guillens.com - (800) 222-7855 -
X2000L. | ausssssssssssssssssssssssssss

1/2" Flex
X 20.00"L.

*To BMH Jet
#19 ’

11

12

*To BMH Jet #16

3/4" Flex
x 20.00'L. 11
Wsm Flex
x 20.00"L.
3’;'; F&gi‘L 3/4" Flex
X £4.0UL. X 72.00'L.

*See General Spa Parts Catalog

3/4" Flex

X 4.00'L
3 2
2"'x 2.50'L. To Heater "x 6.50'L.
1
"X 250 1" x 3.00'L.

To Recirculating
Pump Discharge

ITEM P/N DESCRIPTION QTY

1 0826000 Bushing, Rdcng, 2 x 1 S x SPG, Fltyp 1
2 0426000 Ell, 90, 2" Sx S 2
3 0828000 Tee, 2"SxS xS 1
4 7299000 Bushing, Rdcng, 2 x 3/4 SPG x S, Flshtp 2
5 9666000 Clamp., Hose #H-12 Worm-Drive Type 2
6 K660000 Injector, Ozone, White 1
7 7298000 Ell, 3/4, 90 Street 1
8 D360000  Tee, 3/4 x 3/4 x 3/4 SXxS XS 2
9 3344000 Bushing, Rdcng, 3/4 x 1/2 S x SPG 2
10 7164000 Ell, Street, 1/2" 90 2
11 D221000 Ell, 3/4,90,Sx S 2
12 F830000 Restrictor, Flow, .31 1.D. x .81 O.D. 2

4


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0826
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0426
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0828
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7299
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 9666
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K660
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7298
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D360
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3344
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7164
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D221
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F830
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

©pnee

2%%2) PINNACLE PLUS

MODEL #P700000
ISSUE DATE: 3/99

* www.guillens.com - (800) 222-7855

SUCTION PLUMBING

2" Flex
X 36.00"L.

2" Flex
X 15.00"L.

1
2"x 2.50'L,

To Pump #1
Suction
2" Flex
X 35.00"L.

To Cycle
Valve Output

2"x4.00'L.
2

*To Suction
. Fitting

*To

Fitting

‘ gﬁf( 2"x 3.00'L.

*To Suction
Fitting

Suction

2'x 3.00'L. 3
1" Flex 2
x 50.00"L. ‘ To Recirculating
11\@ Vel Pump Suction
10 1" x 3.00"L.
*See General Spa Parts Catalog |
ITEM P/N DESCRIPTION QTY

1 H833000 2" S x S Unibody Valve 2
2 0426000 Ell, 90,2"Sx S 2
3 0828000 Tee, 2'SxSxS$S 6
4 1592000 Ell, Street, 2" 90 2
5 5901000 Valve, 2" Swing Check, S x S 1
6 2488000 Tee, Rdcng, 2x2x1 1/2,SxSxS 1
7 2010000 Bushing, Rdcng, 1 1/2 x 1/2 SPG x S 1
8 0826000 Bushing, Rdcng, 2 x 1 S x SPG, Fltyp 2
9 0522000 Ell, 45,2"Sx S 1
10 0507000 Ell, 90, 1", Sx S 1
11 H999000 Fitting, Spa Drain 1
12 3054000 Compression Fitting, Straight 1
13 4649000 Tube, .25" O.D. Flex Nylon x 96.00"L. 1
14 F830000 Restrictor, Flow, .31 I.D. x .81 O.D. 1

To Pump #2
Suction


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC H833
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0426
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0828
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 1592
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 5901
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 2488
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 2010
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0826
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0522
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0507
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC H999
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3054
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4649
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F830
http://www.guillens.com/

Guillen's Enterprises, inc

jacuzziparts.com
800-222-7855

o
Jdevrzi)
WHIRL Poovﬁ'n'-n-u

PINNACLE PLUS

MODEL #P700000
ISSUE DATE: 3/99

AIR LINE PIPING

To 1-Position
Control Panel

To 1-Position
Control Panel

14.00'L.
3.00" L.

5.75'L (3 Places)
(3 Places) 2 s

42.50"L.

20.00'L.

#22 1.50"L.

* www.guillens.com - (800) 222-7855

To 1-Position
Control Panel

‘ To 1-Position
U, Control Panel

4
EZth; P el f To 1-Position 6.00'L
5 6 g &8 Control
| #2} Panel Jet #25
To BMH 57 10.00'L.
Jet #3 2 &
16.00'L - "
To 1-Position P 8 6.75'
Control Panel g 7 150" av—1
?/ Jet #23
1 11.25'L
Jet #14
1 10.50'L.
Jet #15
44 50'L.
I
Jet #24
NQOTES: Piping is 1/2" Flex PVC and 1/2" Sch. 40 PVC.
See General Spa Parts Catalog for Jet Assemblies and 1-Position
Control Panel information.
ITEM P/N DESCRIPTION Q1Y
1 7164000 Ell, Street, 1/2" 90 10
2 0455000 Tee, 1/2"SxSx S 19
3 0436000 Ell, 90, 1/2"S x S 5
4 0647000  Coupling, 1/2"Sx S 2
5 C279000  Adapter, 1/2" S x SPGT



csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7164
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0455
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0436
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0647
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C279
http://www.guillens.com/

WHIRL FOGL Txn-u

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

PINNACLE PLUS

' www.guillens.com - (800) 222-7855 -

MODEL #P700000
ISSUE DATE: 3/99

AIR BLOWER/PIPING/AIR INJECTOR ASSEMBLIES

Shell shown for
reference

1"

To Air Injectors

Use tie-wraps

Barrier Screen, Iltem 15,
to Blower Housing.

11/2"pPVC
x 30.00"L.

Flex PVC —

to secure 10

To Suction Fitting
in Pan Seat Support (See Detail Below)

To Air InjectoV 10 { 2" pVC
19 X 2.50'L.
>NU B
7Y F
2" Flex PVC
© § X 33.00'L.
s 112" Flex” 1 1/2" PvC—) S TT——11/2PvC
M, XOSOL x20001 S X 20.00'L.
17 § é/s
1"FlexPVC 18 KP
S

Seat Support
/ %

Inside area of seat support

SEAT SUPPORT SUCTION FITTING DETAIL

ITEM P/N DESCRIPTION Q1Y
1 K654000 Blower W/Plug, 240 VAC 1
2 2488000  Tee,Rdcng,2x2x11/2,SxSxS 1
3 4516000 Flange, Pump, 2 1
4 0199000  Gasket, Pump Flange 1
5 6371832 Nut, Elasticlock, 5/16-18 4
6 3983832  Washer, 5/16 Flt, PIn Wd Ser 8
7 6932832 Bolt, Hex, Fl Thrd, 5/16-18 x 2.00"L. 4
8 0239000  Ell, 90,1 1/2"SxS 2
9 K176000 Check Valve Assembly, 1 1/2" 1
10 K449000 Fitting, U-Bend, 1 1/2" x 1 1/2" 3
11 0508000 Bushing, Rdcng, 1 1/2 x 1 SPG x S 2
12 0167000 Tee, 11/2,5SxSxS 11
13 0507000 Ell, 90, 1",S xS 9
14 K363945 Injector, High Output Air-Silver 10
15 K560000 Barrier, 12" x 14" Screen 1
16 0827000 Tee,1"SxSxS 8
17 0828000  Tee, 2"SxSxS 1
18 7299000 Bushing, Rdcng, 2 x 3/4 SPG x S, Flshtp 1
19 0522000  Ell, 45, 2"Sx S 1
20 3959000 Screw, OHPM, #10-24 x 2.00"L. 1
21 4506000 Washer, #10 Finishing 1
22 1902000 Spa Suction Strainer 1
23 1958000  Suction Fitting Sub-Assembly 1
24 0538000  Plug, Drain, 1/8 EPT 2



csr111
Typewritten Text

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K654
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 2488
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4516
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0199
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 6371832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3983832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 6932832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0239
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K176
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K449
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0508
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0167
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0507
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K363945
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K560
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0827
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0828
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7299
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0522
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3959
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4506
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 1902
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 1958
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0538
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

.'ﬂ A MODEL #P700000
W) PINNACLE PLUS [&mis

ELECTRONIC CONTROL BOX/CONTROL PANEL/HEATER ASSEMBLY

3
o -
L? o

[3

3

® @0

3

o (0]

1 o <o

\\ 0

=]

O 2]

= =
<= f— <o
2
4
;\ M Plug
o) ®OO®
e ®
ITEM P/N DESCRIPTION QTY

1 K286000 Balboa Box/Deluxe/240V/3 Pumps 1
2 K464000 Heater, 5.5 kW, Low Flow 1
3 G216000 Ozone Generator, Hercules 1
4 K123000 Control Panel, Deluxe 3-Pump 1
N.S. K599000 Freeze Protector, Cable Assembly 1
N.S. K623000 PC Board, K286 Deluxe Digital, 3-Pump 1

N.S.=Not Shown


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K286
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K464
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G216
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K123
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K599
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K623
http://www.guillens.com/

Guillen's Enterprises, inc ymmmmmmmemmmsmsmmsssssmse=——- -
jacuzziparts.com ' www.guillens.com - (800) 222-7855

800-222-7855 nTTmTmmmmmmmmmmmmmmmeses
MODEL #P700000
PINNACLE PLUS [sseoresss

CYCLE VALVE ASSEMBLY

1 1/2"x 2.50L. Sch. 40 PVC

1 1/2"x 4.00"L. Sch. 40 PVC

ITEM P/N DESCRIPTION Q1Y
1 K098000 Valve, Cycle, 6 Port 1
2 0473000 Bushing, Rdcng, 2" x 1 1/2" 1
3 D189000 Tee,Rdcng, 1 1/2"x1 1/2"x3/4"SxSxS 1
4 0955000 Ell, 90, 1 1/2", Street x Slip 1
5 K541000 Union End 1
6 K543000 O-Ring, Inner 1
7 K595000 Strainer Sub-Assembly 1
8 K542000 Tail Piece w/Nut 1
9 K596000 Strainer Assembly 1
N.S. K071000 Bracket, Cycle Valve 1
N.S K072000 Plate, Cycle Valve

N.S. K073000 U-Bolt, 3"
N.S. = Not Shown


csr111
Typewritten Text

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K098
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0473
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D189
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0955
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K514
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K543
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K595
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K542
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K596
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K071
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K072
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K073
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

PINNACLE PLUS [

MICRO-PULSE JET ASSEMBLY

o0 ° L
Jdevzzi)
WHIRL Poov‘lﬂ’u—ru

GAUP

2
ITEM P/N DESCRIPTION Q1Y
1 K360000 Micro-Pulse Jet Body 1
2 K359XXX Micro-Pulse Wall Fitting 1
3 K399000 Ell, 90, .25" x 1/2" Slip 1

XXX=Color Select

10


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K360
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K359
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K399
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

o0 ° L
JacvEzi)
WHIRL Poov‘lﬂ’u—ru

PINNACLE PLUS [

DIVERTER VALVE ASSEMBLY

Inside of Spa Shell

ltem 3 includes screw and cap

[TEM P/N DESCRIPTION Qry
1 K410000 Valve Assy, Diverter Body 1
2 K412000  Fitting, Wall, Valve 1
3 K413XXX Handle, Raised, Valve 1

XXX=Color Select

11


csr111
Typewritten Text

csr111
Typewritten Text

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K410
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K412
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K413
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

.'ﬂ A MODEL #P700000
W) PINNACLE PLUS &

LAMP/HARNESS ASSEMBLY

ITEM PIN DESCRIPTION Q1Y
1 8018000 Housing Assembly, Lens 2
2 K467000 Lamp, Dual Spa Light 2
3 K298000 Harness/Socket Assembly, 2 Lamp, Spa 1
4 K602000 Filters, Dual Spa Light 1

12


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 8018
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K467
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K298
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K602
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855 = Iaeeemeisiie el Ll sl

MODEL #P700000
ISSUE DATE: 3/99

230V PUMP/MOTOR/CORD ASSEMBLY

NOTE: The Pinnacle Plus has two
230V Pump/Motor Assemblies.
Quantities called out are for
one assembly only.

XD
2R
"l
"
S

B

()
&
9%

0.‘:’

o

/I/

L5
2
25
%,

(7
5

"
"

L7
e

9
B
LR
N

7777
(7

a

(7

""'
()

(2
{7

(7
!thi

,: y:
1’
Y .

71177

77

/77

Y i
L7
17

1L LT
A

//
/”""".
77
I.."

9
ITEM PIN DESCRIPTION Q1Y
1 K119000 Pump/Motor/Cord, 230V, 60 Hz 1
2 K448000 Pump/Motor, 230V, 60 Hz 1
3 F123000 Plug Assy, Jets, 90" L., Snap-In 1
4 K114000 Adapter, Pump Union 2
5 K115000 Nut, Pump Union 2
6 K116000 O-Ring, Pump Union 2
7 K560000 Barrier, 12" x 14" Screen 1
8 4477000 Bracket, Motor 1" High 1
9 4034832 Nut, Lockng Hd Kep Type 1/4-20 8
10 3982832  Washer, 1/4 FIt, Type A Pin Wd Ser 8
11 3689000 Vibration Damper 4

13


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K119
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K448
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F123
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K114
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K115
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K116
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K560
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4477
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4034832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3982832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3689
http://www.guillens.com/

Guillen's Enterprises, inc

JaCUZZ|partS.Com .-----------------IIIIIIIIIIIII
800-222-7855 ' www.guillens.com - (800) 222-7855

PINNACLE PLUS [

RECIRCULATING PUMP/MOTOR/CORD ASSEMBLY

ITEM PN DESCRIPTION QY
1 K120000 Recirculating Pump/Cord 1
2 K121000 Union, Recirculating Pump 2

14


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K120
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K121
http://www.guillens.com/

Guillen's Enterprises, inc

jacuzziparts.com = a==ss=sssssssssscssssssssos--- E

800-222-7855 j vrbeguillEns con - (00 222 1539

PINNACLE PLUS [

FILTER/SKIMMER WELL

Inside of Filter/Skimmer Well

onﬂ
JACH :
4
s )
WHlanooLvE'er

Apply bead
of silicone
sealant

1/2" PVC pipe
(must purchase
locally). Cut length
to 10 7/8'L. ! Electronic Control
Box Temp Sensor

FILTER/SKIMMER WELL REPAIR

To accompilish this repair,

screws must be removed Drill 1 1/16" through hole in bottom of Filter/Skimmer Well
in fittings ITEM P/N DESCRIPTION QrY
1 KO70XXX Filter Cover 1
2 6199000 Fiter Cartridge, 25 Sqg. Ft., Front Load Filter 3
3 7069000 Body, Top, Front Load Filter 2
4 6639XXX Frame Assembly, Front Load Filter 2
5 J827000 Fitting, Sensor Mount 1
6 K521000 Cartridge. Spa Purifier 1
7 N666000 Disc, Filter 1
8 N667000 Male Adapter, 1/2 MPT x Slip 1
9 N668000 Bushing, Rdcng, 3/4 SPIG x 1/2 Slip 1
N.S. 6636000 Basket, Skimmer Front Load Filter 2
* N.S. 3975000 Screw, Mach., PHP, #10-24 x 1.00"L. 24
* N.S, 4036000 Washer, #10 Flat, Type A Plain Wide Series 24
* N.S. 3991832 Nut, Hex, UNC-2B #10-24 24

N.S.=Not Shown
*Used to secure skimmer body to shell.
XXX=Color Select

15


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K070
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 6199
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7069
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 6639
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC J827
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K521
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N666
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N667
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N668
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 6636
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3975
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4036
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3991832
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

PINNACLE PLUS [

SKIRTS/STEP/PILLOWS/THERMAL WRAP

> 1

ITEM P/N DESCRIPTION QY
1 7138000  Skirt, Flex Panel, 50 x 19 6
2 5303837  Screw, Drywall, #6-8 x 1.63"L. 64
3 K419001 Thermal Wrap, 6 x 30 x 94 1
4 K419002 Thermal Wrap, 6 x 30 x 62 3
5 KO79000 Step 1
6 KO69XXX  Pilow, R7.00 1
7 KO67XXX  Pilow, R17.00 2
8 KO68XXX  Pillow, R11.00 1
9 K358945 Stereo Speaker 5", Poly-Planar, Silver 2
10 K605000 _ Grill, Speaker, Stainless Steel 2
11 K651000 Edge Trim, Speaker, Grill 2
12 3939000 Screw, Shrmtl, PHPGPR, 6-20 x .5"L. 4
13 K636000 Screw, OHP, #6x 1L, Type AB 4
14 K450000 Receptacle, Pilow Fastener 8
15 7694833  Screw, A Shtmtl, PHR #8x 1.5 11

16


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7138
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 5303837
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K419001
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K419002
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K079
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K069
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K067
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K068
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K358945
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K605
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K651
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3939
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K636
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K450
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7694833
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

PINNACLE PLUS [

CD PLAYER/POWER SUPPLY/PANEL ASSEMBLY

6

o 9o e
JacuEzy/
WHIRL Pool_‘v’u'xru

15

/7 . 0l38° oa\
10 i X & Jla
3 5 Q) 19

vl Sl)

\
v gé@;a e

137= le 14 L 21
. N ) Attach green
SIDE VIEW BACK VIEW i wire to stud

ITEM P/N DESCRIPTION oy  gr (11t - ——a—-—-

1 K657000  CD Player 1 j

2 E401000 Power Supply, 12 VDC 1 p

3 K465000  Bracket, CD Power Supply 1 5

4 7595832 Screw, PHP, #6-32 x .25 "L. w/Washer 2

5 H154000  Screw, PHP #6-20 x .38 "AB" 2 Locate capacitor

6 M872XXX _ Housing w/Door, CD 1 P 22

7 3969000 _ Screw, Mach., PHP, 8-32 x 1.25'L. 4 under PC board

ol E176832 Nut, Elasticlock, 8-32 4 - -

9 4051000  Washer, #10 External Tooth, Locking 4 * A Pinnacle CD Repgaur Panel Assembly-

10 K462000 Door. Clear. CD Panel 1 P/N P_117000-|s available also. This _

11 K630000 _strike Plate w/Handle, Clip-On 1 repalr assembly must be used on units

12 A746000 _ Latch. Magnetic 1 manufact_ured prior to 9/28/98. This

13 E387000 _ Screw, PHMS, 4-40 x 1" L. 2 assembly includes the CD Panel,

14 A294000 Nut, Locking Hd Kep Type, #4-40 > Moisture Barrier, CD Housing w/_Door,
%15 K566000 Panel. CD 1 CD Player Brackets and mounting

16 F143000 Washer, Flat, 6.5 mm, Nylon 6 hardware.

17 N305000 Bracket, CD Player 2

18 E174832 Screw, Hex Hd M5 x 6mm 4

19 N576000  Wire Assy, Ground #14 AWG 1

20 K553000 Cable Assy, Power Supply CD, Spa 1

21 K658000 Wiring Harness, Spa Stereo 1

22 N977000  Wire Assy, Noise Filter 1

N.S N978000  Antenna, AM/FM 1

N.S. P084000 Bracket, Antenna 1

N.S.=Not Shown 17


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K657
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E401
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K465
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7595832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC h154
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M872
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3969
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E176832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4051
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC k462
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K630
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A746
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E387
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A294
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K566
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F143
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N305
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E174832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N576
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K533
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K658
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N977
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N978
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC P084
http://www.guillens.com/

Gu

illen's Enterprises, inc
jacuzziparts.com
800-222-7855

PINNACLE PLUS

MODEL #P700000
ISSUE DATE: 3/99

SPA REMOTE KIT

(ORDER P/N P572000)

ITEM P/N DESCRIPTION Q1Y
1 P208000 Remote Control, Hand Held 1
2 P207000 l. R. Sensor/Cable Assembly 1
3 P710000 l. R. Sensor/Cable 1
4 P742000 Gasket, Rubber, I. R. Sensor 1
5 P576000 Nut, I. R. Sensor, 3/4-10 1
6 P577000 2-To-1 Connector, |. R. Sensor 1

18



csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC P208
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC P207
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC P710
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC P742
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC P576
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC P577
http://www.guillens.com/

o0 ° L
Jaevzzi)
WHIRL Poovﬁ'i-ru

Guillen's Enterprises, inc

jacuzziparts.com
800-222-7855

PINNACLE PLUS [

K559000

OTHER ITEMS AVAILABLE

Pinnacle Plus Spa Cover

K653000

Rope Lighting/Connector Assembly

19


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K559
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K653
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

PRODUCT SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE.
USE INSTALLATION INSTRUCTIONS SUPPLIED WITH PRODUCT.

Jacuzzi Whirlpool Bath has obtained applicable code (standards) listings generally available on a
national basis for products of this type. It is the responsibility of the installer/owner to determine specifc
local code compliance prior to installation of the product. Jacuzzi Whirlpool Bath makes no
representation or warranty regarding, and will not be responsible for any code compliance.

JACUZZI WHIRLPOOL BATH

Jacuzzi Whirlpool Bath National Headquarters
PO. Drawer J, Walnut Creek, CA 94596 (510) 938-7070
Service Support: (800) 288-4002

©Copyright 1997 Jacuzzi Whirlpool Bath K557000E 3/99

Printed in the U.S.A.


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/

	Main Menu
	Spa Menu
	Platinum Series
	Help

	Guillen Button: 


